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(  /10)

(2) y=—-322+x+4

(4) y= -5z —br+7

(6) y=4x% + 7z +38
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(1) y=—22% -3z

(9) y=>5x>+3z—9
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(8) y=32>+92 -3

(10) y = —2z% + 8z +5

— 13th-note —

)



— F75ER 03-4 —

EAH5ERK 03-4

WD 2 WL A I FERR L7 S0,

(1) y=22%2—6x+7

2
3 5
=2 —_ Il
4 (m 2)+2

(3) y=422 +9x+7

2
9 31
= 4 —_ —
Y <w+8> +16

(5) y = —22% — 22 — 8

2
1 15
— _92 =) - =2
] <w+2) 5

(1) y=—22% -3z

2
3 9
= -2 Sl =
(] <w+4> + 3

(9) y=>5x>+3z—9

2
3 189
=5 _— _ =
Y (w * 70 ) 20

( /10)

( ) )

(2) y =222+ 8z +8

y=2(z+2)°

(4) y=—32% + 42 +9

2
2 31
= 3(z—- 2 o2
Y (az 3> +

(6) y=—2>—8r+6

y = — (x+4)* + 22

(8) y=32>+9z -3

2
3 39
=3 2 _
] (w+2) 1

(10) y = —2z% + 8z +5

y=—2(x—2)°+13

— 13th-note —



— FH5ERK 03-5 —
FH5EM 03-5 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,
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